"Higher Education: Students at the Heart of the System" – an Analysis of the Higher Education White Paper 
Appendix 2: Calculating RAB Values
1. The RAB values were calculated using the modified Ready Reckoner. This can be downloaded from the HEPI web site. It is held with the report, ‘The government's proposals for higher education funding and student finance – an analysis’, published in November 2010.
Changing threshold annually

2. The downloaded version must first be modified to change the thresholds annually rather than every 5 years. Go to worksheet ‘Parameters’, unprotect the worksheet by going to the Review tab and in the Changes group click Unprotect Sheet.
3.  The values under ‘Repayment Threshold’ and ‘Threshold for Full Interest (Phased)’ need to hold the formula:

<cell for previous year > * (1+$B$13) 

Calculating RAB values for table 2

4. The vales in the parameter sheet should be completed as below. The loan amount per year is for £7500 net fee and £4100 maintenance loan (see Appendix 1).
5. ‘Former student career income growth adjustment’ is set to 117.0033 per cent. This increases the income growth such that the RAB value for assumed net fee of £7,500 is 32.0 per cent, shown in the ‘Extra Results’ sheet. 
6. The other RAB values in table 2 can now be calculated by changing the ‘loan per year’ value.
Original Parameters
	Loan Amount Per Year (3 Year Course)
	11,600

	Repayment Term
	30

	Repay Rate
	9%

	Discount Rate
	2.26%

	Real Interest
	3.08%

	Low Income Protection Pre-SRDD (Y/N)
	N

	Low Income Protection Post-SRDD (Y/N)
	Y

	Type of Low Income Protection
	Phased

	Repayment Threshold Growth
	4.81%


Additional Parameters

	Inflation
	2.75%

	Average incomes growth 
	2.00%

	Cash incomes growth
	4.81%

	Real interest
	3.00%

	Notional real interest
	3.08%

	Actual Discount growth
	2.20%

	Notional Discount rate
	2.26%

	Former student career income growth adjustment 
	117.00%

	Cash former student incomes growth
	7.77%

	% Females
	58.35%


7. Other RAB values noted in the text can be reproduced by changing either the ‘Loan Amount Per Year (3 Year Course)’ or the ‘Former student career income growth adjustment’. With the growth assumption set to 100%, the income growth assumptions are as for the original BIS Ready Reckoner.
Peak negative RAB
8. The RAB values quoted for £40,000 and £60,000 starting salaries where calculated with the standard parameter settings, with income growth at 100 per cent. Income in the ‘No grow sheet was set to £40,000 for each year for one row and £60,000 for each year for another. In the ‘Repayment calculation’ sheet ‘Year of Death’ (column AP), ‘Year of Disability’ (column AQ) and ‘Prepayment’ (column F) were set to 0.   Results can be read off from column H of the ‘NPV Repayment’ sheet. This gives -9.3 per cent for £40,000 pa and -5.9 per cent for £60,000 pa. If the 117 per cent growth adjustment is used the vales are 9.00 per cent and 5.8 per cent. 
